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word definition

Vocab
a data value that is much greater or much

less than the other values; Qutliers

can affect the mean if they are included in
the data set.

outlier




?Complete number 2 in your composition book.
2) The table shows the heights of several Shetland ’

ponies.
‘ outlier
Shetland Pony (m.) \ -
40 | 37 39 | 40 | 42 X X X
T T B B . , X xx XX
‘ 25 1 26 28 30 3z B84 36 58 40 42
= : ﬁeight
a) Graph the heights on a number line. Identify outlier. (inches)

b) Find the mean with the outlier. 379 =37 9
28+37+37+38+38+39+40+40+40+42 379 R

10 inches

Find the; mean without the outlier. |

37 + 37 + 38 + 38 + 39 + 40 + 40 + 40 + 42 = 351 =39 inches
c) Describe how the outlier affects the mean. \

With the outlier, the mean is less thanall
but three of the heights. Without the outlier,
the mean better represents the heights. |

Remember to chang
how many you're
dividing by.




‘Complete numbers 3 and 4 on your notes page.

3) Befow are the weights (in““‘pouhds) of dogs ata kehnal,,

48, 50, 55, 60, 8, 37, 50

a) Graph the weights on a number line. ldentify the outlier.

outlier o
g

X
3 X X X
5 10 15 20 25 30 35 40 45 50

b)

c)

Find the mean with the outlier.

Find the mean without the outlier.
37 +48 + 50 + 50 + 55 + 60 = 300 Q%Q: 50

Describe how the outlier affects the mean.

‘With the outlier, the mean is lower than 5 out of the 7 data.
jWithout the outlier, the mean is in the middle of the data.




4) E

a) ¢

b)

c)

Complete numbers 3 and 4 on your notes page.

$456, $512, $516, $900, $436, $516

sraph the prices on a number line. Identify the outlier.
RN ~ outlier
LX X XX ~~ - X

1400 450 500

‘Without the o
data.

550 600 650 700 750 800 850 _ 900

Find the mean with the outlier.

| 436 +456 + 512 + 516 + 516 + 900 = 3336 5> = $556
Find the mean without the outlier. * ‘
436 + 456 + 512+ 516 + 516 =2436 2436 =g487.20

Describe how the outlier affects the mean.
With the outlier, the mean is higher than 5 out of the 6 data.

utlier, the mean is cﬂloser to the middle of the

L4



